Gross Profit 2-3
a.Kevin Bacon and Pork Company had sales of  $240,000 and cost of goods sold of $108,000. What is the gross profit margin (ratio of gross profit to sales)?

b. If the average firm in the Pork industry had a gross profit of 60%, how is the firm doing?

Profitable ratio 3.3
Franklin Mint and candy shop can open a new store that will do an annual sales volume of $750,000. It will turn over its assets 2.5 times per year. The profit margin on sales will be 6 percent. What would net income and return on asses (investment) be for the year?

Cash break-even analysis

5-6
Gibson & Sons, an appliance manufacturer, computes its break-even point strictly on the basis of cash expenditures related to fixed costs. Its total fixed costs are $1,200,000, but 25 percent of this value is represented by depreciation. Its contribution margin (price minus variable cost) for each unit is $2.40. How many units does the firm need to sell to reach the cash break-even point?

